HOMEWORK

Listen and read the dialogue 3 times; write the dialogue with 10 changes.

‘It’s cheaper to eat at Marguerite’s’
Christina: What would you like to eat, Peter? The cheese sandwiches are the cheapest.
Peter: Er… mmm… oh, a cheese sandwich, please, Christina.
Christina: Cheese… mmm… Janine? Would you like a beef sandwich or a cheese sandwich?
Janine: A cheese sandwich, please.
Peter: What about you, Christina? Would you like cheese or beef?
Waitress: Are you all ready to order? What would you like to eat?
Christina: Er, we’ll have one beef sandwich, two cheese sandwiches and, mmm, tea for me.
Janine: Tea for me too, please.
Peter: Yes, make that three teas, please.
Waitress (writing down the order): One beef sandwich, two cheese sandwiches and three teas. 

